Carbohydrates

Metabolism: Glycolysis



Glycolysis

N

Glucose

INAD™
+ 2P, \ f

Fructose-1,6-
bisphosphate

2ATP A\‘j KL 2NADH

T

2Pyruvate

!

Aerobic oxidation .

Anaerobic i Anaerobic
homolactic alcoholic
fi tati i
ermentation Citric Acid fermentation
Cycle
2NADH 60,
2NADH~| T 9NADH
Oxidative /-
phosphorylation
ENAD"""/ \- 2NAD*
Y 2NAD+*/1 1
2Lactate 6C0O, + 6H0 2C0, + 2Ethanol

FIGURE 17-1 Glycolysis. Glycolysis converts glucose to
pyruvate while generating two ATPs. Under anaerobic
conditions, alcoholic fermentation of pyruvate occurs in yeast,
whereas homolactic fermentation occurs in muscle. Under
aerobic conditions, pyruvate is oxidized to H,O and CO, via
the citric acid cycle (Chapter 21) and oxidative phosphorylation

(Chapter 22).
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FIGURE 17-3  Degradation of glucose v the glycalytic
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